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Memorandum

To : Files Date: July 25, 1984

From :  Department of Fish and Game

Subject:  Brush Creek, Mendocino County, Population Sample, June 8, 1984

General data
Sample date - June 8, 1984
Section Location - Brush Creek, IFIM transects 1-12 located ~1.13[KM]

(0.7 mile) below Hwy 1 bridge

Section length - 81.1m (266 ft.)
Section width (ave.) - 6.5m (21.3 ft.)
Section area (approx.) - 526.5m” (5,666 ft)
Flow (approx.) - 0.255m*/s (9 cfs)
Water temp. - 13.3C (56 F) @0800
Air temp. - 13.9C (57 F) @ 0800
Wesather - clear

Sampling crew - Don Ward and Bill Snider
Sampling method - Mark/recapture using SRV11 electrofisher; w/block nets

Fishes present - steelhead, sculpin(spps.), armoured three-spined stickleback
Fishes sampled - steelhead

Results

One marking run and two recapture runs were made. Two SH year classes were apparently
present (1983 and 1984). No aging was done, but fish >100mm (4 in.) FL were considered age 1.

Raw data
Run #1 (Marking run)
223  SH caught total
58 SHdied
165 SH marked then released (148 age O and 17 age 1)

Run #2
149 SH caught total
127  SH caught unmarked (124 ageO and 3 age 1)
22  SH recaptured/marked (22 age 0)

(No fish marked or released between 2nd and 3rd run).



Run #3
80  SH caught total
68  SH caught (unmarked) (68 age 0)
12 SH recaptured/marked (10 age O and 2 age 1)

Estimation of Population per Section
The ratio of unmarked to marked SH was essentially the same for both runs 2 and 3.
Run 2 127/22 = 5.78
Run 3 68/12 = 5.67
Therefore, the two runs were combined as one for the purpose of calculating the total population
asfollows:

N(tota) = M(C + 1)/(R + 1) + # dead

Tota : 100mm
M (marked) 165 17
C( total caught inruns 1 and 2) 229 5
R (total recaptured in runs 1 and 2) 32 2
dead 58 0

165 (229 +1)/(32=1) + 58
1208 SH

= 100mm = 17(5+1)/(2+1 +0
= 100mm = 34SH
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Confidence limits cal culations (95% + 20%).
CL. "[~2(C-R)/(C+1) (R+2)] 12
CL.tota = £ 163 (% 13.5%)
C.L.-100mm = = 12(35%).

Extrapolation of SH Population Estimates
N (total)/km = 1208 SH/.0811km
N (total))km = 14,895 + 2,012 SH or
N (total)/mile = 23978 + 3,238 SH

N = 100mm/km = 34 SH/.0811km
= 419 + 148o0r
N = 100mm/mile = 675 *+ 238

N(tota)m? = 2.3 fish/n? (9,152 fish/acre)
N = 100mm/m’ = 0.06 fish/n? (262 fish/acre)

William Snider
Fisheries Biologist

hrf
c: W. JonesR-3, R-3
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CURVE FORMULAS
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Sin. 4D = T2 E ot angs Tan. def. = } chiord def.

The square of any distance, divided by tmce the radius, will equat
the distance § romtanmnocmmy
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Given Base 100, Alt. ro.:a'-t-m
Given Hyp. 100, Alt, 25.25%+200m 3, zs.-lm—s.:zs-gé‘&s
Error in ﬁmmmpk 002} in Jait, .043. -

To find Tons of Rail in one snile of track: nultiply weight per y:md
by 11, and divide by 7. :
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